

NOTE ON THE FUNCTIONAL DIFFERENTIAL EQUATION

$$\frac{d}{dx} \{ \dot{\phi}(x) \} - a\phi(x^\lambda) = 0^*$$

BY

LL. G. CHAMBERS

University College of North Wales, Bangor, Gwynedd, Wales.

The functional differential equation

$$\frac{d}{dx} \{ \phi(x) \} - a\phi(x^\lambda) = 0, \quad x > 0 \quad (1)$$

does not appear to have received any attention in books upon functional differential equations (1). The purpose of this note is to point out that, by very simple processes, it may be transformed into an equation about which much is known.

Let

$$\phi(x) = x^{1/(1-\lambda)}\psi(x). \quad (2)$$

The equation (1) becomes

$$x^{1/(1-\lambda)} \frac{d}{dx} \{ \psi(x) \} + \frac{1}{1-\lambda} x^{\lambda/(1-\lambda)} \psi(x) - ax^{\lambda/(1-\lambda)} \psi(x^\lambda) = 0$$

which can be rewritten as

$$x \frac{d}{dx} \{ \psi(x) \} - a\psi(x^\lambda) - b\psi(x) = 0 \quad (3)$$

where $b = 1/(\lambda - 1)$.

Let

$$x = e^t, \quad (3a)$$

$$\psi(x) = y(t). \quad (3b)$$

Equation (3) can easily be seen to transform into

$$\frac{d}{dt} \{ y(t) \} - ay(\lambda t) - by(t) = 0. \quad (4)$$

This is an equation about which much is known ([2], [3], [4]).

* Received August 26, 1986.

Clearly, were the interval $x < 0$ of interest, all that would be necessary would be to use the transformation

$$x = -e^t.$$

REFERENCES

- [1] Jack Hale, *Theory of functional differential equations*, Springer Verlag, New York, 1977
- [2] Tosio Kato and J. B. McLeod, *The functional-differential equation $y'(x) = ay(\lambda x) + by(x)$* , Bull. Amer. Math. Soc. **77**, 891–937 (1971)
- [3] L. Fox, D. F. Mayers, J. R. Ockendon, and A. B. Tayler, *On a functional differential equation*, J. Inst. Math. Appl. **8**, 271–307 (1971)
- [4] Ll. G. Chambers, *Some functional differential equations*, Quart. Appl. Math. **32**, 445–456 (1975)